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5 : Error
5. Whenever the skyis clear, you can see Eﬁ WH.o\\\\
PART -A -
(a) (b) (©
Spotting Errors
Directions ¢ Each item in this section has a sentence with three underlined parts labelled (@), () and (¢), o Brror
; ; 6.  I'm not working tomorrow, soIdon had to getupearly- N0

Read each sentence 10 find out whether there is any error in any underlined part. Indicate your response i, e .

(b) (c)

the Answer Sheet against the corresponding letter Le., (a) or (b) or (c). If you find no error, your response (a)
should be indicated as (d).
' idn’ s Error
1, Over long periods of time, layers of sediments builds up to a height of a few kilometers. 7.  Shedidn’t tell anybody about her plans. No ErT!
(b) (© (d
(a) Ol . () (a)
No Error

. 8.  She wouldn’t have has an accident, if she had driven carefully.
i i -

(@ (b) (©)

2. Whenagasis cooled down it turns into a liquid from a process called condensation. N
No Error
@ b) v ©
(GY)
No Error
d)

9. Iwill watch film ifI finish the work in time. No Error

3. Ifyouwant toknow thenews you canreadanewspaper. No Error

(a) (b) (c) @

@) ®) © @~

it

10. In 1989, the government did an about-face and Iran restored it’s family planning program.

4.  Columbus made his first voyage from Europe to America on 1492

(a) ¥
No Error
@ No Error
3 (d)
¥ ASGT-F-ENG
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‘

Synonyms

,eh _M_an onse in YOur Answer Sheet accordingly.
LD uring the pandemic the indigent people had | 16.
to suffer a lot.
(a) verypoor
() opulent
(¢c) solvent v
(d) prosperous
12. She had no jdea what made him angry in one | yo.
minute and jovial the next.
(a) aggrieved ¥
(b) melancholic
(¢) doleful
(d) mirthful
13. It is sheer lunacy to drive a car in this frosty
weather. 18.
(a) prudence
(b) normalcy
(c) insanity
(d) sanity
14. Operating on a child with cancer needs | 19.
meticulous planning and teamwork.
(a) strong
() long
(©  playful
(d)  scrupulous
15.

d”ﬂ.oiﬁ. of over-speeding the vehicle can be
exhilarating, but it is important not to take

20.
the consequences lightly.
(@)  humdrum
(b)  dreary
(©) exciting
@) agitating
ASGT-F-ENG
(4-A)

7 in this section consists of a sentence with an underlined d
.« . Each item i1t word followed
jons ¢ Y four

(@), ®), © and (d). Select the option that is nearest in meaning to the underlined word ang ,,
i ark

———=ul0n

The redemption will no i
strategy of mbn_cm?mumm“\ fepesdon ki new
(a) retrieval
(b) forfeiture
(c) corporation
(d) desecration
Only three candidates are now in contention
for the title.
(a) involved in dispute
(b) in agreement with each other
(¢) chance of winning
(d) amiable to each other
All my fishing paraphernalia is in the car.
(a) boxes
(b) accessories
(¢) fuel
(d food

The public watched in astonishment as he
took a sudden jump from the bridge.

(a) anticipation

®)  hurriedly \..A,
(e) wonderment

(@) calmness

Drinking inordinate amount of liquor is not
good for health.

(a) temperate
(b) exorbitant
(¢)  moderate
d) regular

s SPS

Directions : Each of the fol
.N.E:Ea&. These parts have
namely (@), (®), (c) and (d)-

mark your response accordingly-

21.

292. for hours in the shop

B s

Ordering of words i

lowing items in this
been labelled P, Q

You are requt

i tter
because I feel  you remember {LBEEE

e

P Q

I make at least three drafts of a song

S
The correct sequence should be :
(a) SPRQ
(b RQPS
(© QRSP
@ PRSQ

for hours 72—~ ———

P Q
The correct sequence should be :
(a) SPRQ
(b) RQPS
(©), QRPS
@ PRSQ
P Q

The correct sequence should be :

(a) SPRQ
(b) RPSQ
(¢) RSQP
(d PRSQ
ASGT-F-ENG

a gunman who held

gection €O
R and S-

‘N& tore arrangé the .\g‘:wnn& pa

P e b’
n Dm@ﬁe@ﬂ%@ 7 8 hav : hnumv
he parts uer
i sentences t e POTE re fou” sed 7
g . sentenc® a ncﬂﬁwnwuv\ al
; w eac .
Given belo

rts of

ite something:

when you write SOREEE

—~ moXs oF

Ukraine has urged its citizens

a hostage

=

R

B on

demanded ransom of T

to leave the

Ukraine has urge® = —————

(5—-A)

Selegaintudusailine S IR T

R S)



25.

26.

ASGT-F-ENG

54, ripping roofs off houses and raising fears of  coast of Madagascar in th
€ early ho

P ~

Q
cyclone Emnati crashed into the southeastern  flooding and food shortages
in the reg;
glon

R
S

The correct sequence should be :
(a) SPRQ
(b) RPSQ
(c0 RQPS
(d PRSQ

ecology is protected ic li i
MEQ aquatic life thrives ~ we need to utilize the resources of water
for different purposes while ensuring that its natural )
R S
The correct sequence should be :
(a) SPRQ
(b) RQPS
(©) QRSP
(d PRSQ

very difficult  the

poor visibilif
= 5 ty  made the movement of traffic

R
The correct sequence should be :
(a) SPRQ
(b) RQPS
(©) QRPS
(d) QSrp

27. avenues for the patients to indict  but rarely is it the other way round

P Q
there are multiple legal ~ the doctors
R S
The correct sequence should be :
(a) SPRQ
(b RPSQ
() QRPS
(d) QSRP
28. flight, and each person  her own journey  lifeis a solo  makes his or
mases - —
P Q R S
The correct sequence should be :
(a) SPRQ
(b) RPQS
(¢) RPSQ
(d PQRS
29. madeitevolve technologies and equipment has
P Q
into a rare centre of excellence  adoption of the latest
R S
The correct sequence should be :
(a) PQRS
(b) RPQS
(¢ SQPR
(d QSRP
please mark the same  be made in response to this notice
P ' Q
it ;
f you have any complaint to  to the concerned authority
R S
A e correct sequence should be :
Ty
(a) PQRS
- () RPQS
(©) SQPR
RQPS
(7-A)




Directions : Each item in this section consists of a sentence with an underlined word
ord follo

options, (@), (®), (c) and (d). Select the option that is opposite in meaning to the und
nderlin,

Antonyms

mark your response in your Answer Sheet accordingly.

Wed b
Y fo
ed Worg 5“

31. The parental support can fortify a child’s | 36,
. H :
learning. — e had the audacity to blame him,
(a) weaken (@)  boldness
(b)  encourage (b)  vigour
(c) brace (€)  temerity
(d) strengthen (d)  politeness
32. N ; 317. .
mmos we can have another dazzling thought, They are making plans for the abatem,
an outcome of my brilliant research! the nuisance within a specified mBo/mR of
(a) splendid (a) subsidence .
(b) murky (b) i
ebbing
MMVV MHNEm ()  accumulation
gent (@) mitigation
33.  The group held so
me cl; i : 38. 3 .
resoles (A andestine meetings to Mwmnw 1s exponential growth in the
? velopment of the scienti .
(a) secret recent few aoommmw e Crssearghen i 0
(b)  covert (a) a i .
(¢)  sneaky ®) SRS
(d) public Armpan
()  meager
(d) au,
34. In the winters, th Ermenied
, the countryside view i
and the house 1s drafty, tryside view is bleak i
(a) cheerless 9. He was known for his sagacity.
(b)  verdant (@) prudence
(¢)  desolate (b)  wisdom
AQV bare Anv i
gnorance
- (d) sapience
. Amid commotion {]
he leader ap
2 d hi
vaozmww remained passive. his | 40, The river Ganges culminates in th
quietude Bengal ates in the Bay of
(b)  uproar (@ condl
(¢)  tempest (b) REIASS
@  stir flows
(©)  originates
ASGT-F-ENG @  merges
(8-A)

Directions : chw: below are some idioms/phrases followed
the most appropriate answer from among the options (a), ®),

The lion’s share

Idioms and Phrases

41. 46.
(a) A portion of something
(b) The largest and the best part of
something
(¢) Animportant decision
(@ An aggressive statement
417.
42. Spill the beans
(a) Reveal a secret
(b) Forced to leave belongings
(c) Share the news
(d) Take offence at someone’s rude
behaviour 48.
43. Cook someone’s goose
(a) To assist others
(b) Hypnotize other’s mind
(¢) To spoil other’s plans
(@ Inviting misfortune o
44. Disappear into thin air
(a) Lost forever
(b) Become forgetful
(¢) Become uncaring
(d) Disappear suddenly
50.
45, Put the screws on
(a) Forcing someone to do what you want
(b) Never letting go of things
(¢ Keep the past alive
(d) Using someone’s trick for own benefit
ASGT-F-ENG (9-A)

by four alternative meant

ngs for each. Choosé

(c) or (d).

Sit on the fence

(a)
(b)
(c)
(d)

Avoid meeting someone
Waiting nwﬁoﬁﬁ%
Avoid taking sides
Hiding from someone

Be as sharpas a tack

(a) A talkative person

by A shrewd person

(¢) Aclumsy person

(d) A clever person

From pillar to post

(a) Upside down

() Keep moving from one place to another

(¢) Constructing 2 huge building

(d) Jumping from the top of the mountain

Heath Robinson

(a) Very complicated system or machine for
doing a simple task

(b) Treating everyone as enemy, when they
are not

() Sleeping all day, doing nothing

(@ Very lazy person, slow in action

As thick as thieves

(a) Dumb person

(b) Good for nothing

(¢) Someone who wuses everyone for
personal gain

@

<mQ close friends who are looked upon
with suspicion



AT -B
51. &%ﬂ%ﬁﬁﬂ 5, 3 S,, T F TR 53. W ¥ U ¥ HH U Ty
DGR e H
ﬁ@%%m%ﬂmgmmﬁwiw.aﬁw ﬁa@ﬁgwﬂmwﬂ _ __ﬂﬂw_mMaf PART -B ol
i . . Vi BmmmowuBWm
o & g TR mNMw 10 kg T T GoAAM T o & z @ S f,v Qﬂ Wy 51. Two identical spring balances S, and Sy are 53. A sphere of <o7.5.5 S“Mb i While on
o 3 IR i 5 | T&r w | 1< with lower density . .o volume
e g & 1 3G S; AN S, T LIGRIERENE a < g (g 9% W oy N AR, 1) connected one after the other and are held B th, it floats o water with it8 AP
. = 5 .0
w; 3R W, &, a M SR F Y wQ ) wv Y ¥ R vertically as shown in the figure. A mass of £,V (fy < 1) mccgmnmmm. On ew.meMaWManmﬂmﬁob
39Sl S 4 MA &R w Ty 10 kg is hanging from S,. If the readings on a mvwammav mnn&mﬂvn_b.m L4 avity on
TG AR £,V R | 5 B, o S. and S, are W, and W ) a<g (gisthe acceleration due to m.m - olame
@ fy=f : , and Sy are W, an , Tespectively, then : Farth) in outer space, its submerge
s| Ppw ®) ! a in water is £,V. Then :
1 f,=(1-
o =(1 M:.H @ f=h
m © f>f A\Wy > W, (b) mwuﬁ\wvb
a
@ f,= . £ © f>h
S| W, _a
@ f2=7 f1
54. S WEHH U (container), X 3K Y, 3 B g % a0
# vt Aferr e “ SRR Sy > W 54. Two identical containers X mb.&.
R ¥ o ™ R Mw g m | 39 connected at the bottom by a thin ncwwm .om
,wwmﬂ. N #, St 6 o & Tty negligible volume- The tube has 2 434...“ in it,
10 kg T} | RN ¥ U X ¥ ¥ h 3 e pown in the figure- Initially container M
S T iqui height b in it a®
( = a W A has a liquid flled up to heig "
a) 9: mWW@.ﬂA éwHHOWm - WW%W%J—W%WA&W _Qﬂﬂm% HOWN container Y is @Bﬁaﬁ When the valve 18
() W;=10kg MM W, =5k ’ a mﬁw e ¥ e 9E 3 = opened, both containers have equal amount Mm
2 g ISR (equilibrium) H BT BRI (a) Wp=5kg and Wy =10kg liquid in equi jbrium. H».. the initial @mwonw t ) M
© Wy=5ke i W, =5k gt T % d_um.@v & Cus valve is opened) potential enersy of the liqui
m ¢ P, ® iR 3ifem @Eﬂwm R R @ Wy=10kg and Wp=5ke is P, and the final potential energy is Py
@ W;=10kg 3 W,=10kg Hx Al P, R, (@ W, =5kg and Wy=5k8 then :
X Y
Y @ W;=10kg and Wp=10kg
52. 20 m 5 == == ! 2 o
aas@%%gﬁu S e e we | [Fiiig EIII:
A S EIii:
i S R | 9 W A R EZz=3 (b 52. A stone is thrown horizontally from the top of .um.n.qnnmum.l. h
siv T R Ble=10m’Ng FEIZ3 . 20 m high building with a speed of EZ=E3
B R Ve w@ T, BT Wun.lm..m“m 12 m/s. It hits the ground at a distance R from SZZ=:
s ===Z3 —Z===
: iy & the building. Taking g = 10 m/s? and B e E—
(a) R= A — i . : o
=12m neglecting air resistance will give :
® R=18m @ P, =P, (@ R=12m (a Py=Py
© R=24m ® P =4p, % R=18m ® P, =4P,
d R=30m () P;= 2P, (¢ R=24m () Py=2Py
ASGT-F-ENG @ Py=
1=8P, (d R=30m (d P,;=8P,

(10-A)
ASGT-F-ENG (11-A)




55. ® 1 R B o 99 ¥ w9
(constant speed) v & Ty & W Tq
M g H TR B A T F
S o R 2 M
(a) m

R
a<w
b —
2R
(c) m
7R
d o
60.

56. wg T 192 (point mass) T ¥ 50 N3
wm%w_ﬁﬁiwﬁﬂﬂs
60 w.&ﬁwﬂﬂmwﬂﬂ_ﬁ?wﬁ
F1 aRem e feme g 9 mm
(@ 86N .

(b) 43N
() 50N
d 67N
61

57. mﬂﬂﬁamwﬂu.ﬂ ' .
(a) wﬂ_._wm ,ﬁﬁwﬂﬁﬂiw.v
b we
(© Ewe
@ s

W. ¢ N

8 Wﬂﬁgmwﬂuhﬁu.@&@? o

(Hypocentre) m@ﬂﬁmwﬂww%_
, %ﬂﬂn%ﬁ:&#ﬂ&ﬁﬂ@ﬁw_
: dw iy
Ikl LI
- 63.
@ 13fs ﬁiaﬂm%uﬁmmﬂ_
b 23k 3
(c) wwﬂmw
(d) Wﬂﬂw
ASGT-F-ENg
(12-4)

59. AT e Tz

(a) I ™ 3
(Plei
(P] _monmbmv m»mnOnm:mv wﬂm

® I (Hologone)

(Pleistocene)

() g T
(Plei
(Miocene) ek

*
TR I A §, oﬂmﬂﬂﬁﬂj

zzs

My
OCene) 2#

(d) mﬁwv@wvﬂwvﬁmﬂw

(a) ﬂgﬂﬂw@ﬁ.—ﬂa
(b) @ﬁ,ﬁ@ﬁﬂa

(c) T
@ &y

T R

T

() fogady a9

(c) M...: e

@ YAy 9

B W@ 93

.Qmmmb wssi mwvu .
z&amﬁgw&mgﬂﬁ°ﬁaﬂu
(a) uﬁ%ﬂﬂaﬂ ?
®) R g (Usa)
Me LT (USA) 3K s

ASGT-F-ENG

5. A icle i T .
5 im.ma_n_m 18 moving in a circle of radius R | 59.
mnomsawﬁ. constant speed v. Its average
10n over the time when it
half the circle is : L moves over
2
v
(& —
R
2
34
b —
2R
2v2 60
© — )
nR
(d o0
56. Two forces of 5:0 N each are acting on a point
mass. If the angle between the forces is 60°,
then the net force acting on the point mass
has magnitude close to :
(a) 86N
(b) 43N
() 50N 61.
(d 67N
57. Which one of the following is not an igneous
rock ?
(a) Granite
(b) Slate
() Basalt
(d) Gabbro 62.
58. Which of the following statements is/are
correct ?
1. Hypocenter is the point on the surface of
the Earth, nearest to the focus.
9. Velocity of earthquake waves is higher
in denser materials.
3. P waves move faster and are the first to
arrive at the surface of the Earth. 63
Select the correct answer using the code given
below :
(a) land2
(b) 2and3
(¢ land3
(d) 3Sonly
(13-A)

the
0 mﬁonrm .

In terms of geological time scale,

quaternary period consists of tW!
They are :

(a) Pleistocene and Pliocene

(b) Holocene and Pleistocene

(¢) Pleistocene and Miocene

(d) Holocene and Eocene

Which one of the following is the correct
sequence of arrangement of the given Ewbo.em
in descending order of their density (in
mu.\nauv ?

(a) Earth > Jupiter > Venus
(b) Jupiter > Earth > Saturn > Venus
(¢) Earth>Venus> Jupiter > Saturn

> Saturn

(d) Earth>Venus> Saturn > Jupiter

Which one of the following is not a cold

current ?
(a) Western Australian Current

(b) Eastern Australian Current
(¢ Benguela Current
(d)

Peru Current

The process of Podsolization is ﬁwm&cambmbn_%
found in :

(a) Equatorial forest

(b) Monsoon forest
(¢) Taiga forest

(d Mediterranean forest

Joint Military exercise ‘Keen Sword 23’ was
conducted between :

(a) India and Japan

(b) India and USA
(¢) USA and Japan
(d Japan and Taiwan
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e e & g i Ao e T g R Ty
b (a) e Im. w2l
(@ 1948 (b) sonhe fore
g (¢) Wi Uesd
o @ . 30 wmiew
@ 1972 68. HREH Ry TET ¥ gay A
i TR
R few i . i
65. .@ﬁa% 22 (Exercise Sea Vigil-22' % 1. S %@ﬁ il IS ™
i 7 s Fu o T A AR w4
| T R A g o A W s 2. % S i gee
27 1 W B A W HTehEH FEAT R | Mm,__& o
) 3. T # il
2. 8»%%5%%5%% MET %&%&Pﬂuﬁ@%ﬂ@mﬁﬁm
# wfira g | I (extr i
. extracellular matrix) g1
I FoA A A FAA/EAY T R 2 &wmnﬁﬂﬂﬁ:ﬁﬁ%uﬂmmw_
- (a) | 2 "
e (b) had 13N 2
. (¢) had 1 3
© 13K ’
. H.a EM @ 1,23R3
1,382
69. Tfafas & @ =m i
66. Tr=fafan wemi i
ol T R B - IR (prokaryotic cell) § TgF %_%M@ﬁ%
1L s whE S R R @ i |
e S ICC T20 fova (b) dﬁ%
2. gig Anv. Wﬂmﬁ
frma ‘w N umﬁm._m,ﬂm:wﬂ_ MMMWWOO T20 (d) Sf1EEsa Fe (Plasma membrane)
(. 311 2 il o 70, wrew e 3 :
s | ¥, frafafes § @ e
L EE T, T DNA R 2 ¥
@ % 1 (@) g R Fageh e
. Retioulum) (Endoplasmic
© 1323 (b)  TEEEW R TAesh I
@ TALIE o () O (Mitochondria) 3R giqaas
ASGT-F- @, Howes
F-ENG 3 TEurh (Vacuoles)
(14-

A)

64.

. ;pient of
Who among the following 18 not a 1P

The Battle of Rezang La, an epic battle in | 67. 9
Nobel Prize in Chemistry i 2022

hostile conditions, was fought by the Indian
Army in :

(a) Carolyn R. Bertozzi
(@) 1948 (b) Benjamin List
(b) 1956 (¢) Morten Meldal
() 1962 @ K Barry Sharpless
@ 1972 nents T egarding

Consider the following state

cell wall composition -

68.

65. Ooama.mu the ‘».n.vzoéwsm statements about 1 Bacterial cell wall is made ‘of
“Exercise Sea Vigil-22' ) N
vmvﬁmomwwawb.
1. Tts aim is to assess India's preparedness . £ cellulose-
in the domain of Maritime security and 9. Fungal cell wallis made o1 €
coastal defence. 5 Animals lack cell wall and have
9. Naval forces of USA and Japan also extracellular matrix made up of sugar
took part in the exercise. .
Which of the statements given above is/are AR pEOREER
o . .
Sﬂmoa ? Select the correct answer using the code give™
below :
(a) lonly e .
(a) 20
() 2only v
(b) land 2 only
(¢) Bothl and 2
© 1 and 3 only
@ Neither 1 nor 2
@ 1,2 and 3
66. Consider the following statements : 69. Which one of the following structures is not
i karyotic cell ? ,
1. England is the only country that won present in BRES OREES
Cell wall
the ICC T20 World Cup twice. (@ CeBW
(b) Ribosomes
9. Virat Kohli is the only player to be (© Nucleus
adjudged as the Player of the Series in (@ Plasmame mbrane
the ICC T20 World Cup twice.
70. In a plant cell, hich ;
Which of the statements given above is/are v ..uw which one of the follow
contains their own DNA?
correct ?
(@ lonly (a) Nucleus and Endoplasmic Reticulum
(b) 2only (b) Ribosome and Golgi apparatus
(¢) Bothland?2 (© Mitochondria and Chloroplast
(@) Neither 1nor 2 (@ Chloroplast and Vacuoles
ASGT-F-ENG (15-A)



64. ﬁﬂ%éimﬂﬁa@ﬁ.n@ﬁd
%@a&m%ﬁ%@m%wmﬂﬂ
o1 ?

() 1948
(b) 1956
() 1962
@ 1972
o5, ‘o @ fafo-22 (Exercise Sea Vigil-22' &
%mwﬂ?@mﬁ&ﬂg%@ﬂ"
| vEw S agh gen ok ad %
87 7 WE ) T AR FR |

9. USA 3R 9 H FE o 58 A
% wnfire g |

T Fo d A P TR AR 2

(a) %1

(b) FEE 2

(¢ 1323

@ TMLID2

66. frfafad wut w fomm Hiftw

1L e e R SRR 1cc 20 fiwe

F9 QIR |

2. fowe weeht v fawrd) ¥ < 1cc 20
fova 1 8 Q A e 1 wds Reard)

(R % < ¥iiw) g e |
IFE T R A DAY wd 3 o
(@) &9 1
(b) I 2
© 1323
@ IMLAR2

ASGT-F-ENG

frffan # @ S T 2022 .
o iggiwgwaﬂiw

(a) FAfeH A, welesht

(b i fore

(c) HiT Hesd

@ . 30 e

68. iR vt T % w9 P o
ﬂ@m_.m&.@ﬂ“ .

1 e sl il e
AR A=t

2. W%%%ﬁ%ﬂ%
|

3. witmi #§ il fufy i
RETUE Tl i ﬂ@ﬂ%ﬂmﬂmﬁ
MR (extracellular matrix) %.m: .w |

ﬁmﬂéﬂﬁgﬁﬁ%wﬂ%ﬁ_

(a) Had 2

(b) et 13K 2

(© haw 13

@ 1,233

69. F=fafes # ¥ wRd T ym3
IR (prokaryotic cel) § umw @%ﬂ&wﬂ%
(@ e fify

(b) TSR

(© 5

d) mwmwﬂ %l (Plasma membrane)

70. ey Ffew d, Fefafes & @ fr s
T DNA BT B 2

(a) wﬂmm R wﬂ.ﬂm& ElIE (Endoplasmic

Reticulum)

(b) TEEEW R el I

(© HFHOEH (Mitochondria) 3 FHawEH
(@) EiaeEs 3R WUHT (Vacuoles)

(14-A)

64.

65.

66.

ASGT-F-ENG

m—

The Battle of Rezang La, an epic battle in
hostile conditions, was fought by the Indian
Army in :

(a) 1948
(b) 1956
(c) 1962
(d) 1972

Consider the following statements about
‘Exercise Sea Vigil-22’ :

1. Its aim is to assess India's preparedness
in the domain of Maritime security and
coastal defence.

2. Naval forces of USA and Japan also
took part in the exercise.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2 only

() Bothland2
(d) Neither 1 nor 2

Consider the following statements :

1. England is the only country that won
the ICC T20 World Cup twice.

2.  Virat Kohli is the only player to be
adjudged as the Player of the Series in
the ICC T20 World Cup twice.

Which of the statements given above is/are
correct ?

(a) 1lonly
(b) 2only
(¢) Bothland2

67.

68.

69.

70.

(d) Neither 1 nor2

(15—

A)

_sent of
following isnot 2 recipié

the
WL o et i U

Nobel Prize in Che
(a) Carolyn R. Bertozzi

(b) Benjamin List

(¢) Morten Meldal

(d) K. Barry Sharpless

Consider the following statements regarding

cell wall composition :

3 ‘of
cell wall 18 ?

made
1.  Bacterial
peptidoglycan.
9. Fungal cell wall is made of cellulose.
and have

: k cell wall
3. Animals lack ¢ £ sugar

extracellular matrix made up ©
and proteins.

Select the correct answer using the code given

below :

(a) 2only

(b) 1and 2 only
(¢) 1and3only
(d 1,2and3

Which one of the following structures is not
present in a prokaryotic cell ?

(a) Cellwall

(b) Ribosomes

(¢) Nucleus

(d) Plasma membrane

In a plant cell, which one of the following
contains their own DNA ?

(a) Nucleus and Endoplasmic Reticulum
(b)  Ribosome and Golgi apparatus
(¢) Mitochondria and Chloroplast

(d)  Chloroplast and Vacuoles



71 % S el HGQll GRS = RS AT
71.

- I B9 A FETEAT T B | HHT HROT

(a) YOIF 9 sk 8 Iendd IR wafy
(offspring) TT &Yt & |

(b) EE-GE IR e Tafd qgr Bt & |
(c) IR FGW Fafd YT et & |
() gateE § stfees fafiemar g 2

iy fufy

(b) Siagss e

© %ﬂwﬂ (cytoplasm)
(@ TTEfE eref

(a)

s mﬂwmﬂbmwwmwmﬂgggi. Yy Y
ﬂ.@ﬂgﬂmﬂwﬁgm 58w

(a) %iuﬂﬂdﬂ&dﬂdwﬂ

D

76.

77.

78.

74. 3 Y
Hw ﬂ% JMM wmﬁﬂ * T gu
(@) 7N, A, W, ¥y
(b)  wg, g, 3, e
() W, x5, * dom
(d) s, o, 39, iy
ASGT-F-ENG

(16—

A)

AARLLANIIAC [ s
3 o 1 e T
@ T R e S & 2
(b)  IFETHFR Fefres
© o <
(d) %umgﬂ._mwwaﬁs
PR Fehe faeram
e w S %@mﬁmﬁﬁ

ﬂ?@ﬂa%ﬁg%ﬁww

(@) EHe Rifpa
®) AT stffyey
(@  wireumyT arfifipa
@ o sfufen
me%ﬂww?mﬂ@@mﬁ%&ﬁm
(a) MaﬂgwﬁaA@u@ﬁ&ﬁvwﬂ%w
(b) qI F w8 F @

(©) s & wdT § wa
@ wF & w87 § waa

Wwwﬂwﬂzww@g%ﬁ%

(a) ﬁ@mﬂﬂﬂﬁm&%ﬁ#

(b) T ¥ mem

(©)  wg3igE A firn g

(@) M&%ﬁﬁ%ﬂﬂ%@ﬁ%aﬁmﬂ

71. One advantage of sexual reproduction over

asexual reproduction is that it helps species to
survive over long evolutionary time. This is
because sexual reproduction produces :

(a)

more offspring in each reproductive
cycle.

(b)
(c)
(d)

robust and healthy offspring.
genetically similar offspring.
more variation in offspring.

72. Which one of the following structures or

components is not always present in living
cells ?

(a)
(b)
(c)
(d)

Cell wall
Plasma membrane
Cytoplasm

Genetic material

73. Browning of the chopped apple can be

minimized by :
(a)
(b)
(c)
(d)

using table sugar.
preserving in a container.
using lemon juice.

using milk of magnesia.

74. Which of the hydrocarbons are arranged as

per the increasing order of their boiling

points ?
(a) Methane, Butane, Propane, Heptane

(b)

Propane, Butane, Pentane, Octane

(¢) Propane, Butane, Heptane, Methane

75.

76.

7.

78.

(d) Octane, Ethane, Methane, Propane

ASGT-F-ENG

; d
Which one of the following apparatus is Use

i ?
re ?
for separating benzene and water mixtu

(a) Round bottom flask

(b) Conical flask

(c) Separating funnel

(d) Dean and Stark apparatus

An iron nail dipped in copper m_wuvrwem
solution turns brown. This is due to which one
of the following types of reactions ?

(a) Addition reaction

(b) Decomposition reaction
(c) Substitution reaction
(d) Displacement reaction

Among the following, which is not the correct
method for keeping the curd ?

(a) Keeping in stainless steel vessel
(b) Keeping in copper vessel

(¢) Keeping in plastic vessel

(d) Keeping in glass vessel

Toothpaste prevents tooth decay by :
(a)  neutralizing the excess acidity.
(b) means of emulsification.

(¢)  the action of fluoride.

(GY]

making a coat of calcium over the teet
surface.

(17-A)



%ﬁ%?&ﬁﬁ% 83.

(0 aﬁa&: uﬁ&mu 7 .
@ 1893-1894%F foram fage ®

a0 ﬂﬂﬂaﬁﬁmﬁaw%m%m 84,
AIRM R TR ?

(@) 3% i fofd ) wEe ekl
foran TR o |

(b) WWRI: 9 (ancestry) YR R FE
fer @ A |

© TR ¥ W I R A (Ga)
TUF TEes YW g giea fom
o | 85.

@ wEER B B off e A yER T
o < o |

8l ﬂmwwmﬂ&ﬁﬁﬂw@anﬁm
eI ) HraT e T o o

(a) T TR

®) & e (Vansittart)
© I em

@) W Filatr

82, Trfefien 3 3 feey
B of

(a)

I T yafey

(b) mﬂmﬂw

(18-A)

frafefes # @ f5e T A v @
e sl gan, AR R 2

(a) ERutl
(b) oA

(c) HIeAdT

ﬁﬂv

(d) WUar

frafefied 8 @ 68 W = wwa § Pw @y
It s @

(a) To99T (Chinsura)

(b) FEHA (Karaikal)

(© I} (Mahe)

(d) I (Tranquebar)

TH 3G ABCD, f IFE g a1 Sfae gl
& | TE gl 2, feeh A 3R B #R e
e 2f 3R 3f H g W E, 3 AB v avy
T E, o % o § qufa mn R | g w3
o fafers ABCD SRR | B'C HADY
H T R ?

(@ 1
(b)

[

(c)

(d)

wlr N

79.

80.

81.

82.

ASGT-F-ENG

Freedom fighter

martyred in :

Kanaklata Barua was | 83.

(a) Sepoy Mutiny
(b) Quit India Movement
(¢) Non-Cooperation Movement

(d) Peasant Uprising of 1893 - 1894

Which one among the following statements | 84-
about the Mansabdari system is correct ?

(@) All army troopers
mansabs.

were allotted

(b) Mansabs were usually assigned on the
basis of ancestry.

(¢) Position and salary of mansabdars were

indicated by a numerical designation
called zat.

85.

(d) Mansabdars were never paid in cash.

Which Governor General of Bengal underwent

impeachment proceedings in the British
Parliament ?

(a) Robert Clive
(b) Henry Vansittart

(¢) Warren Hastings
(d) Lord Cornwallis

Who among the following composed the
‘Prayag Prashasti’ of Samudragupta ?

(a) Harishena
(b) Chand Bardai
(¢) Vishakhadatta

(d) Kalidasa

(19-A)

Which one of the following kingdoms SNM
founded by the two brothers Harihar an
Bukka ?
(a) Bahmani
(b) Vijayanagara
(¢) Malwa
(d) Maratha

e
At which one of the following places did the
Danes establish their settlement in India ?
(a) Chinsura
(b) Karaikal
(¢) Mahe
(d) Tranquebar

A rectangle ABCD is kept in front of a concave
mirror of focal length f with its corners A and
B being, respectively, at distances of and 3f
from the mirror with AB along the principal
axis as shown in the figure. It forms an image
A’B'C'D’ in front of the mirror. What is the
ratio of B'C’ to AD" ?

S A
1

2f >
3f >

(@ 1

(b)

[

(c)

(d)

Wi M-



86.

87.

o # @ wmae o Xy 3R YZ v L yZ) | 8s. aredd @igh ¥ for Fefafea 4
: ' 3
gufe M E, S oo fem W gR € | 3 o FuT G 7@ 8 ? 8 B
T T R 3 S A A T g s
3 S 99 S FHAIR WEfd gl § | 3 T
3 it =1 3 7 oy xvz F H 0 A
TR S R, e fr gt mw R
b & w1 g 2 1 A

(a) W JUR (blowing jet) T T 1 gy
I TR (note) H T F Fefn
FE |

(b) U5 JUR (blowing jet) T TN S -
ad, I T (note) % AR (pitch)

Ay st g |

(c) ﬂ%%%mﬁﬂﬂdﬂﬂwﬂ_ﬂﬁ@
st el 8 |

@ sigh & e & = wigh F T D o
T FEEA A T F e o g

89. TorEft W& M # T ¥4 AW (charge) zfm

(a) a=0

® a=0 1 ol @1 R, Tl g A I fom
(c) =920 %%Emﬂﬂaw_ __Mnu_mﬁw.ﬂﬂ.“

@ =49 (a) I Fam 1 3R frdvaes et = |

(b) g3 e # 3 s ae @i |

M, 59 1 T 6 (37 A ga) w () 9f¥em fem t 3iv fdvs s opm |

\4 aw
MMM&@M@%%%@%@_MM @ ¥ i o 7] i |
%iw_ﬁﬁﬁw&ﬂgm%gé
mg@iyﬁgi AW 90, Frefefen § 3 o
y ﬂ.@aﬁ iWN ..%q Wmm %@wﬁ. w.m '

(a) 3 91
(b) it
(©  HTE 2R3
@ udg

JESESRISEEIE

Shown in the figure are two plane mirrors XY
and YZ (XY L YZ) joined at their edge. Also
shown is a light ray falling on one of the
mirrors and reflected back parallel to its
original path as a result of this arrangement.
The two mirrors are now rotated by an angle
9 to their new position XY 7/, as shown. As a
result the new reflected ray is at an angle o
from the original reflected ray. Then :

86.

(a)

88.

(b)

. is not
Which one of the following statements
ment ?

true for a flute, 2 musical instrt
owing jet

es on the bl
wu.omcoom

Momentum of wav
f the

(a)
the loudness ©

determines

note.
on the

Arrival time of the waves
itch of the

blowing jet determines the P

produced note.

(b)

Sound comes from 2 vibrating colum™ of

air inside the flute.

(c)

Sound comes from 2 vibrating column of

air inside as well as outside the flute.

(d

ng towards south in
1d is pointing in the

charge will

89. A positive charge is movi
a space where magnetic fie
north direction. The moving

() a=20 .
experience :
d o=46
(a) a deflecting force towards mnorth
direction.
87. A railway wagon (open a¢ the top) of mass My (b) a deflecting force towards east direction.
is moving with speed vy along a straight
track. As a result of rain, after some time it (¢ a deflecting force towards west
gets partially filled with water so that the direction.
mass of the wagon becomes My and speed (@ no deflecting force
becomes vo. Taking the rain to be falling
vertically and water stationary inside the
wagon, the relation between the two speeds v;
and vy is: :
2 90. Which one of the following is not a main
(@ vy=vy greenhouse gas ?
(a) Water vapour
(b) ngm < W Em<w e
(b)  Oxygen
© My =My, (¢) Carbon dioxide
(d Mpvy <Myvy (d) Methane
ASGT-F-ENG (21-A)



, 3 3 @ |94 nﬂ@@iw%ﬂédﬂ:zﬁwmﬂ%
ot 3 at & RIS TR
g1, f B sl IETE 8 ? .
FR1? 91. ich one . :
it (a) AT X one of the following statements about | 84.  Which one among the following states 18 th
) ﬂﬂmﬂﬂﬂﬂg~>®ﬂw_ v -rays 1s not true ? . . dia ?
@ it ®) EIEE leading producer of Manganese in In
[ 3=
o 2 fodt g 9 Aﬁm.mv (a)  They have wavelengths of about (a) Madhya Pradesh
gl g (war)) I () TeEdM ‘ s (b) Jharkhand
m T mm%.w | (d) mﬂ..;mmﬁ (b)  These can be generated by hombarding ( Raiasth
H 3 el - a metal target by high energy electrons ¢ Haasihan
« &Wuﬂw Rl & Mﬂm oy Eﬂﬁwﬁ. MW_ AWE H Y Y I Thad ‘ ” (d) Karnataka
b 96. ™= .m.va._wm. 9 (c)  Due to their wavelengths being shorter,
2l (a) EE o Y = i these can be used for radar systems.
) > I[ER 3 95. Mica is mainly used in:
@ IO TN W F & fere o (b) g 3N T Ja o (d) These are also used for the t :
i A R | certain f ¢ reatment of (a) food and beverage industry-
W@E.W_ﬁﬂa% } ain forms ol cancer.
? (©) .w (b) iron and steel industry.
fforfaa 3 ¥ BN P IRED Ev .MMd EJA w@ﬂﬁ?ﬂ uﬂf.w i (¢) aluminium industry.
i q w, I T 92. Which one among the following is the (d) electrical and electronic industries.
R 96. B & Sedry Fiffer & ITER, W ¥ northernmost geographical location ?
m N i
@ = ‘E@J de & T 4 ﬂu,& (&) New Delhi 96. According to Koppen’s climatic classifications,
T g Northern Plains of India have
(b) HISHTG () Kathmandu Sm‘ Great Northern . ains :
© T (a) Aw Sy which one of the following climates
c
@ (b) Cwg Sty (¢} Thimphu (a) Aw climate
) €Tl .
(b) Cwg climate
(© Amw Y (@ Dhaka
@ Df (¢) Amw climate
ASGEICH
93. frrfafen o w firam Hifte . (@ Dfe climate
= = 93. Consider the following statements :
1 o o e g i g (97 @0 AGH & o § fefafe d i
H ﬂ@u@ AT R | VRS T LR, ¥ 1. Distance between the longitudes | g7 Which of the following statements about
! ecomes zero on No ole and Sou : - 9
L 3 W | North Pole and South Lachit Borphukan is/are correct !
2. Wmmm wﬂﬂm 3 . ﬁ@n I ole.
.mm, ﬁ F 99 R wmo_ @ E a4 _ 1. He was a General of the Ahom Force.
it 2 R | 2. d ﬁd.wm._m % R 1 N wm«m e ﬁm.ndzw 2. U_mﬁm.Enm between the longitudes is 5 He is known for his leadership in the
3. T wen i A e 3 iG] w | maximum on the Equator. Battle of Saraighat.
1
yfw § | 3, T 3. Number of longitudes is more than 3. Lachit Borphukan Gold Medal is given
' MV_—WA% IHICH & FAYB hee H A , number of latitudes. to the best cadet at the National
TR F § A FRmAD T Tt e fer o 2 1 | Defence Academy.
(@ ¥ & fmm T H T A IR g M”MW M». the statements given above is/are Wm“ma the correct answer using the code given
! elow :
3 (@ 1
(b) e 2 ERLE (a) lonly (@ 1,2and3
© %9130 3 (b) aet 23R 3 ® 2eonly () 2and 3 only
@ 1,233 © e © 1and8only (© lonly
ASGT-F-ENG @ ¥ o @ 1,2and3 @ 2only
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98. YR
. 1 IR IfET B F o9 §g | 102. T
A ‘GEiferh (DUSTLIK) &1 <ol a1 S (org:

TEHT gl TG foean T o1 2
(a) THIEa

(b) TRIH

() freihrrg

(d %

99. T & ¥ ISRO g1 A (launched) 47
T YR 1 Yeen Feft dR W fawfE Tee

frafafga # a $Har g 2
(a) THIEEC (Skyroot)
(b) 9R¥H (Prarambh)

(c) IS (Bazoomq)
@ fasu-s (Vikram-S)

100. Fefafed 3 & fem am = ;
TH 24 x 7 WRF %ﬁ%%m%ﬂ%

T 2
(a) WTEfCRHI, AT
(b) TV, ToRW

(© % w._.ﬂ EIVIEC] hwﬁ
(d) e, fwmes vy

101. e § 3 fig g )
mﬁ&wwgmﬁiﬁaﬁwﬂﬁaﬂ
1 ?

(d) uﬂuﬁ

>woﬂ+..m20
(24~ A)

7 @ & ®1 F CO, #
Ea&ﬂﬂ.ﬁ%?ﬁ#ﬁ

(@ @
(b) T
(c) et
d TR

103, 5 i FIRHT 0, TYRIT (starved) & 3
f5Ua (fermentation) S & EId H T w
ﬁsw_ﬁwq?ﬂﬁﬁﬁmﬁmm%ﬁw_w

(a) ATP+CO,+ T

(b) ATP+0,y+ a_wﬂm
(c) ATP +CO, + Afdesh Te

(d) >§+O&+%@Mﬂw

104. T VARG A & Sk, fhel fammf 3

Aferaef i
9 S (epidermal leaf peel) Eal T

%ﬁ_ﬂ i (Hypertonic solution) #
ﬁ?ﬂmﬁmﬂm | 8 T99 9, 39 faemef 7

31 R # ghar fear, s
I8 M o 5 : «

@ 3 FfmE B TS |
b) 3 PR zopg
£ wﬂw..._vmm (plasmolysed) & T8

© F Py
pr 3 hife HES
essure) g7 | (turgor

“||“

(25-A)

98. The 4% edition of joint military exercise
‘DUSTLIK’ between the Indian Army and the
Uzbekistan Army was held in :

(a) Ranikhet
(b) Gangtok

(c) Pithoragarh
(d) Leh

99. Which of the following is India’s first privately
developed rocket launched by ISRO recently ?
(a) Skyroot
(b) Prarambh
(¢) Bazoomq
@ Vikram-S

100. Which one among the following villages Was
recently declared as India’s first 24X 7
solar-powered village ?

(a) Mawlynnong, Meghalaya
(b) Modhera, Gujarat
(¢) Zirovillage, Arunachal Pradesh
(d) Malana, Himachal Pradesh
101. Tableaux of which one of the following States
ey adjudged the best in the Republic Day
Parade, 2023 ?
(a) Uttarakhand
(b) Punjab
(¢) Gujarat
(d) Uttar Pradesh
ASGT-F-ENG

102. Orga

pisms capable of using CO2
carbon source are called :

(a) Autotrophs

(b) Heterotrophs

(c) Parasites

(d) Decomposers

ambwmaod

starved, fé
1ts in

yeast cells are O3
gy. This rest

When
source of ener:

serves as the
the production of:

() ATP+CO, +Ethancl

() ATP+ 0y + Pyruvate
ctic acid

(@ ATP+COz+ La

(d ATP+02+ Acetaldehyde

aboratory experiment, a student

n a hypertonic

student

During a 1

immerses epidermal leaf peel i
After some time, the

solution.
cells under a microscope and

examined the

observed that :
(a) the cells swelled.
(b) the cells were plasmolysed.

(¢) the cells built up turgor pressure

(d) the cells size was unaffected



;g @A, gt
7 &, I

e _a.uﬂwﬂmawi%ﬂmig? 10:
@ @ e T, @
; ), T, wifsan Hw
© wﬂaﬁ%ﬁﬂww (© @ifeTH, TH, ord, e
%aﬂiﬁzmﬂm%w @ @i, e, T, T @

(d

106.
b " ﬁ% n\%w ¥ %% T . i bryophytes is 2ot correct ? 109
-1, ? g .
: a1 FoF TE TE 8 ? g @ The plant body is a gametophyte.
| @ éﬂﬂ%%&ﬂﬂ%ﬂ?
(a) TS forga 1 ge ¢ | (b) They are also called the amphibians of
() 3 aEEy S % S o g . plant kingdom.
(b) & BIRTH T T 2 | |
(© M.Rq PRI qETE] gRI TR 3 g g (¢) The plant body is attached to the
| (c) W&.@u (Fullerene) FIET FT TH JTEY substratum by rhizoids.
|
(d) ENEINERED iali
fafuifespa fremH Ea 8 | (d) Specialized water-conducting tissues
(d) w%ﬁ % w1, AP1ge |q FIRAT TG T | are present.
|
107. S S & e Hefee g
[ESERIES]
F it 1 39 e T 2 2 107. What is the specific purpose of using
110. fefafeq § Fefrmfor tassi i i
i e i3 mwu.dnr T $ £ po mmm.;ﬂB . hydroxide during the
B R S fire w3 =i T g saponification process ? 120
A Toiobtain soaps which are hard on the
(b) a) SiRedTes
M.@ g ST F S =_ F WH HHA S MPH (Ostwald’s process)
®) - _soaps which are soft on the
©  STpfts g 3w e I S (Haber-Bosch process)
(c) Wﬂm J i
d .
@ TR T i He Y T (Electric furnace process) .,v giatn bm”“.& mnmmumbwm .
@ . e mmvoum cation very
: <1 WhH (Electrolysis process)
(27-A)

ASGT-F-ENG
(26-A )

Which one of the followj
characteristic feature of fungi qsm
i

Cell wall is made of chitin
Filamentous mycelium, is present
Can carry out photosynthesig

Asexual spores are produced

Which one of the following statements about

i8 not a|108.

he OOHHNQ&

Which one of the following is t S e
tals in the mmﬁ.mumﬁm

arrangement of me

of their reactivity 74

(a) Iron, Sodium, Silver, CoppeT
(b) Silver, Copper Iron, Sodiu™
gilver, Iron

(¢) Sodium, CopperT,

(d) mo&:n.r Iron, CoppPeT- silver

g statements is not

Which among the followin
o5 of Carbor ?

correct with respect to allotrop
f
Graphite is 2 good conductor o

electricity-

(a)

Diamond is the hardest substance

known.

(b)

Fullerene is oneé of the allotropes of
carbon.

Next to diamond, graphite is the second

(d)
hardest known substance.

Which among the following is the popular
method for manufacture of ammonia ?

(a) Ostwald’s process

(b) Haber-Bosch process

(¢) Electric furnace process

(d) Electrolysis process




111, 319 % Rl & fore, ffer & & % w9 4 | 115, wrdn, sRem g0 TERf

frefeiea A & faveen @i fm o 2 2
(a) ST G (Fine clay soil)

(b) I8 .ﬂi (Wood powder)

(c) IR FT @ (Coconut shell

(@ a0

2. fefefen 3 3 #ha, oo &

27

(a) F,CLBrI
(b) Cl,Br,F,1
© Br,ICLF
@ I,Br,CLF

118 S R T H v e, A 3
Wmm%w_ﬁi@iﬁwﬂﬁﬁg

F AT E | fe i1 Feoan 3 4
R B R 2 Rk

(a) i
) T

© wa

@ TS

117. W15% Rremerg

(28-4)

() & o T s |
%iﬂ?ﬂaw%#@%j

(b) %‘ﬁ&waﬂﬂwﬁiﬁﬂﬁ

116. H&xﬁﬁmﬂyﬁa@&m@g 1947 §

ﬁ@m@mﬁwwgﬁﬁm
Wﬂwazm%@aiwgfﬁ

@ e
(b) TRy
(¢) WBR

@ e

. (Rabatak inscription) % W
mﬂ@@i@%.gwﬁ& u%?

21

(b) ﬁmﬂ@ﬂﬁm@&wﬂg%%ﬂ

© ww.@gﬁﬁmﬂﬂ@aﬁﬁam

O ¥ T 5 0 33 2 e
mmﬁﬂ._ﬂwmgw_

111 For manufagy,,
following i us

ring of glagg

ed ag 2 S0y,

) Srmnr a
: Mong
(8) Fine dlay 8 the

®fsiligy ?
(b Wooq POWdey

(©)  Cocony shel]

(d)  Sang

112. Which among the |
arrangement of hal
order of thejr oxidizj

(@ F,ClLBr]
® ql Br,F 1
© Br,LCLF
@ LBr,clLF

18 natyre 9

113. Copper sulphate crystals available in the

market are blue coloured crystals, By carefy]
heating, they turn to white coloyr, Which one

of the following is Tesponsible for the hlye
colour ?

(@)  Oxygen
(b)  Nitrogen
(¢ Water

(d) Hydrogen

114. Equal volume of all gases, when measured at
wmmnmmBo temperature and pressure, contain

“an equal number of particles. Who proposed
the above law ?

(@) Charles
(b) Boyle
(¢c) Avogadro

(d) Lussac

115, A i
: Airbagg Work on the principle of a chemical

Téaction triggereq by the impact producing 2
8aseous prodyct that causes a sudden volume
change, Which one among the following
chemica] conversions is responsible for this ?
@) Sodium azide into nitrogen gas

Solid carbon dioxide into gaseous carbon

dioxide

() Carbon dioxide into carbon monoxide

@  Sudden conversion of gaseous carbon
dioxide into carbon monoxide

116. Which one among the following districts of
Eastern India held a referendum in 1947 to

decide whether or not to join Pakistan ?
(a)  Sylhet

(b)  Goalpara

(¢) Cachar

(@ Jalpaiguri

117. Which one of the following statements about

Rabatak inscription is not correct ?

(a) It throws important light on Kushana
genealogy.

(b) It refers to Kanishka as ‘a king of kings
and a son of God’.

(c) The 23-line inscription is written in
Gandhari language.

(d) It mentions names of States which were
part of Kanishka’s empire.

(29-A)
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Hum.mﬂgﬂm@%,n@w&@d%
FesH2% (Mrichchhakatika)’ Tl TP a1 ?

(a) TG
(b) ¥E
(c) dareHifR
@ IEH

119. 9T fFfafes § @ fow =9 &1 IS

oq1?
(a) HHEI
(b) WHE

(c) WA

(d) hfem

120. Pr=fafea 3 ¥ fra wes 3 Ty T 6
T ¥ w9 § grefags Y T 2

(a fafemr
®» fagar
(c) SASIA¥g
@ H

121. f=fafeq @riiel (astronomers) 4 4 fem
Tz frg e 6 geeht oft o 78 9 & =W
3R afrHT @ § ?

(a) HIGUHE
(b) FYE

(© Aehfert
@ =g
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122. fret e W (FR FeT) T AL 01 ks
B | R H 2 mis R
ﬂmbmﬂnﬁwwﬁ@ﬂnwﬁﬂﬂﬂ

(@ ON
b) 02 N
¢ 10N

d 20N

123. m.oﬁwﬂnﬂ%mmmpsﬁ_aﬁ*ﬁ%mﬂ
i ¥ R feeht e Rl R 2 (Teefi
T 10 m/s® A §Q)

(a) 8O0W

(b) 160W
(c) 320W
@ 640W

124. 20 kg F99F % TH @S ((F) H 30 kg
ZomH ¥ g We () F I @R |
2 gt ¥ 9 e adu s 02 R 1 AR
a1 T # AR 99 F 3§ 59 9@ G @
5 a1 @ U @1y o wdor % fawed B |
el W 10 m/s? AX gL, HEOT wA H
HeaW W fea 7 2

(a) 50N
(b) 30N
() 4N

d 10N

(30-A)

Cm. Who among the
author of the . wo=c€5m
‘Mrichchhakatikq’ 9 mous wmzmr““mm
t

w
(a) Kalidasa o

(b) Bhasa
(¢) Valmiki
(d) Shudraka

119. Yashovarman was ruler of 1
following kingdoms ? "

ch one of the
(a) Kannayj

() Mewar

(¢) Marwar

(d) Kalinga

120. Which one among the following rulers

established Pataliputra as the capital of the
Magadhan Empire ?

(a) Bimbisara
(b) Bindusara
(¢) Ajatashatru

(d) Ashoka

Which one of the following astronomers
proved that the Earth and other planets

revolve around the Sun ?

121.

(a) Copernicus

the | 129
. S
and falls vertically on a conveyor belt at a

rat. .

Eoo.o». 0-1 kg/s. In order to keep the belt
. ving at a uniform speed of 2 m/s, the
orce required to be applied on the belt is :

(@) ON

(®) 02N
(© 10N
d 20N

123. The power required to lift a mass of 8-:0 kg up
a vertical distance of 4m in 2s is (taking
acceleration due to gravity as 10 m/s?):

(a) 80W

(b) 160W

() 320W

d 640W

124. One block of 2-0 kg mass is placed on top of
another block of 3-0 kg mass. The coefficient
of static friction between the two blocks is
0-2. The bottom block is pulled with a
horizontal force F such that both the blocks

slipping. Taking
w_ the

move together without
acceleration due to gravity as 10 m/s
maximum value of the frictional force is

(a) 50N
() 30N
(0 4N

@ 10N

(31-A)

(b) Kepler

(¢) Galileo

(d) Newton
ASGT-F-ENG
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ﬂwm.ﬂwwﬂdﬂnﬂﬂﬂﬁmﬁ.ﬂﬂw%mﬂf 12 %W&ﬂw@
eF @ 2 | St § senia fer et | R
6cm & | <igHT I TAE W e O H A,
geeft ) wag W e @ & A H S R
yT R | ggw W eAE W fawm w0 Y
g ?
2
(a) 6cm @ R/
R
(b) 1lcm (b) 3
© o (¢ 3R/2
(9 cm
3
(d 36cm ) 2R/

126. Ffafag & @ =W, fgdia St Soias

(Lever) T J5T&T0 8 ?

(a) &=t (A pair of scissors)

(b) SIqe YT (bottle opener)
(0 TrhewIa
(@ =99 R @R

127. fret foe wRuy #, 100 YRAY =1 & @)
S R TR R | A 38 AR R Wi = seh
AT $Hh SRIRF WM (original value) ¥ g
1 ST, @ wRey § aw -

() AT FRISH W A ameft B @ |
(b) ﬁﬁwz@ﬂﬂ%ﬂ&%a_
© 3T S e e @ e |

(@ S SR 7 A W T R e |
ASGT-F-ENG

120. yraErET REE & Jwta Rt §
. () e A ?
1 o &6 O TS A9 iR HET
2. 2N GgH W
3. U FMES HI g&aT 7 GUR
e fow T e BT T W T W gAT
(a) 991
(b) ¥4 3
(© Faw2ii 3
(@ 1,293

130. {HEATH T69 ! Vgt Fpd 10 & ST ST o1 2
(a) YREN yaq
® TR T
(c) Hicam T

d Wﬁgﬂﬂ

(32-A)

Moon would be ;
(a) 6cm
() 1lcm
(¢ Ocm

(d 36cm

126. Which one of the following is an ex,
Second Class Lever ?

ample of
(a) A pair of scissors

(b) - A bottle opener

(¢) A cricket bat

(d) A bow and arrow

127. In an electric circuit, a wire of resistance 10 Q

is used. If this wire is stretched to a length
double of its original value, the current in the

circuit would become :
(a)  half of its original value.
(b)  double of its original value.

(©  one-fourth of its original value:

d  four times of its original value.

128, .
What is the total resistance in the following

circuit elemeng 7

(a) R/2
(b) 3R
( +
ov.\ 3R/2 x
(d 2r/3 RO
*
>
129. Which of the following scheme(s) is/are
included under Bharatmala Pariyojana ?

1. Develop the road connectivity to border
areas

2. Development of coastal roads

3. Improvement in the efficiency of

National Corridors

Select the correct answer using the code given

below :
(a) 1lonly
() 3only

(¢) 2and 3only
d 1,2and3

130. Deendayal Port was earlier known as :
(a) Paradip Port
(b) Tuticorin Port
(¢) Kandla Port

(d) Visakhapatnam Port

(33-A)
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(g5, Pt & RERTRSiTey T

181, et 1 9 e 6 I JHH a3 (lowermost/innermost intrugjy,
TR el fom R 2 igneous rock) & 7
(a) wmﬁw @ Jeiferd (Laccolith)
(b) 3T (Vairengte) () R (Batholith)
o (¢ e (Lopolith)
132. HERF Y3 (soil-forming regime) #, N8 M_
mﬂﬂ.m%%mﬁwﬂ%w%@a ) PN Em@m,.&ﬁ.ﬁ, -
% N g q . )
mﬂ Frafafea § @ Saw am 3 7 B 9
(@) I (Calcification)
b) T (Laterization) (a) 6:30A.M.
(c) ISHITYEA (Podsolization) © 6:30PM
d Y (Gleization)
) © 5:30AM.
133. Frefefie & @ S, ot & ofaew wm i
T TR 2 @ 5:30P.M.
(2) HAE I (Conrad Discontinuity)
®) @ ﬁaﬂ. (Moho Discontinuity) 197, 6, e o S B P § 3 Bt
© TEE s (G ttenberg . ) ]
Discontinuity) R (e) Fe e (Spring tide) % i
@ W T (Lehmann Discontinuity) I B ?
134. Fifofen 3 @ P gu wheh) frem | L SYZYGY TR (Conjunction)
St 378 2
e 8 2. SYZYGY fgf¥ (Opposition)
L 3% (Oak)
2. &@W@u (Rhododendron) 3. wWhwfeYfy (Quadrature)
3. &m_um‘waomosoo& ﬁwwﬂﬁﬂﬁu&:mﬂﬁ%%%ﬂ
GRS L E AT B U .
. @ %Fa@1
(a) ad 1
b 233 ®b) Faet o
© 133 © 13ko
@ 132
: @ 13ks
ASGT-F-ENG
(34-7)

Count,
i
8chool of Indiap ?.5«, is .:sn_m Warg
8it; arfy
Amv Umgm.awg cmgﬂ m» : Te ﬂwa.
(b) Vairengte
(¢ Gulmarg
(d Mhow
—uﬂ. In the mOm—n».Ogmﬂm Hmﬂgm whi,
following oceurs i L a_..~ one of the
evapotranspiratiop exronds Tegion Where
significantly ? Precipitation
(a) Calcificatiop 19
(b) Laterization ’
(¢)  Podsolization
(d) Gleization
133. Which one of the mo:oﬂnm is found i the
innermost part of the Earth ?
(@) Conrad discontinuity
(b) Moho discontinuity
(©)  Guttenberg discontinuity
@  Lehmann discontinuity 147,
134. Which of the following tree species is/are
found on Himalayas ?
1L OQak
2. Rhododendron
3. Rosewood
Select the correct answer using the code given
below :
(@ 1only
(b) 2and3
(© 1and3
(d 1and2
(35-A)
ASGT-F.ENG

Which gne o the following is the
lowermogt/ippe

Tmost intrusive igneous rock ?

(a) Laccolitp,

(b) Batholith

(c) Lopolith

@ Phacolith

Ifit is 12 noon in New Delhi, what will be the
time in London, UK ?

@ 630AM.

b  6:30P.M.

o

€ 530AM.

(@ 5:30P.M.

Which of the following positions of Sun, Earth
and Moon is/are suitable for Spring Tide ?

1. SYZYGY Conjunction
2. SYZYGY Opposition

3.  Quadrature

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only
(¢ land2

(d 1land3



M

138, e GASITRORETER PR 3 g @ T
(The Last Supper)’ & ¥a foman & ?

HIEHeUIE (Michelangelo)
STl (Donatello)

£l w&& (Botticelli)
el @ fih (Leonardo da Vinc)

(a)
(b)
(c)
(GY)

%m@@m%@a@iwm@ﬂ
o = 9™ Hi ?

139.

(a) R f$ AT (Vasco da Gama)

(b) smiieing fEATS (Bartholomew Diaz)
(c) TS (Magellan)

(d) T P (Hernan Cortés)

140, WRa ¥ frafafas § & e TR % fewe FIO

et 1 e st @eh T § 2
(a) HEA

®) TS (Ropar)

(0 TeEw

@ wgq

141. i K W Frafrfem § & frw
Fwwd 2 % Fm

(@ W Arq-af Ig
®  fefa sttt g

(©) AFh Ig
@ I g

ASGT-F-ENG

(36-

Wwhich Renaissance artjq ¢
bmmﬁgﬂ

a um.
- %ﬂu%nﬂﬁﬂ%ﬁaw,% " gupper’ ?
142 g 3 e aireied (plan  allocation) (2 Michelangelo
A sy & I A2
e Jeadid () Donatello
© maﬁﬁ%%_ﬂ (¢ Botticelli
a
. e d) Leonardo da Vincj
® T A o
© T T far AT )
ich one of the followi
. T 9. Whic wing Eurg
@ ffE et g conquered Mexico ? pean explorer
(a) Vascoda Gama
143. UN COP-27 Rigua e fred waifta & 2 (») Bartholomew Diaz
©) Magellan
@ w9 IS
) (d) Hernan Cortés
() STawaTg ST SdehaTe- Y ,
Aooggn.emﬂclmuuv
o 140. Near which one of the following cities in India
Sy 9 X have large statues of Kushana rulers been
@ e discovered ?
(a) XKarnal
(b) Ropar
144, YR % IR @ A F=fafea seenfoat #
(¢) Hisar
¥ frae @ 6 FR 3 I F Tw T
YUAT WA §9Y (earliest known association) .
qu?
@) A 141. The Treaty of Yandabo was concluded as part
of which one of the following wars ?
(b) TR
(a) First Anglo-Burmese War
© s (b) Second Anglo-Burmese War
@ Efen (©)  Anglo-Kuki War
A) (@  Anglo-Maratha War
ASeT-FENG

n‘?@ r
a8t | 142. Plan allocation in agriculture and irrigation

as percentage of total plan outlay was highest

in:

(a) Seventh Five-Year Plan
(b) Third Five-Year Plan
(¢) First Five-Year Plan
(d) Second Five-Year Plan

143. The UN COP-27 Summit relates to :

(a) Russia-Ukraine war

(b) Terrorism and counter-terrorism
(¢) Climate change

(d) Interpol

144. Which one of the following tribes from India’s
North-East had the

association with cultivation and production of

earliest known

tea?

(a) Khasis

(b) Garos

(¢) Singphos
(d) Jayantias

(37-A)



146.

147.

(@ YT (@423l FE) e
() ERH (44 T et
(© sl (86d HEIE) it
@ st (oAt i) St

mﬂ@@iw%@aﬂﬂf

@ &ﬂﬂmﬁﬁuﬂmﬂ.q&ﬂ&s

¥ e A U R |

ﬁﬂ&sﬁﬁmﬂ,ﬁaﬂi
¥ 7o 7 A A R |

© gﬂmﬁﬂmﬂﬂ%m&ﬂ

(b)

Jzm W gt e a9 3N gE W
g 1 T Wt wrn i e € fRg
fatia feamfi 4 € |

(@)

w fgd 9@ 220V I 80w F ®W A
GRuRE (rated) 3 | 5 38 110 V W Y=o
T S w. @ wfw gfuto (power rating)
1 &M 2

(a) 80W
b 60W

(c) 40W

d 20W
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(38-A)

148

@ T
s

149.

150.

¥ B T TS
E“@@dﬂ.@%.ﬁ.-ﬁ%ﬂq

qad ot FEtT g g,
R U T

A 8
@ iuﬁaﬁ@s@mwﬂ@mwﬂﬂ
ikl »

%égmﬂnﬁﬂmw@nmﬂ@ﬁm
AR EAR?
m&%mm_&ﬁﬂ@%_ﬂmﬁﬂﬂ
w8
ﬁﬂz@m&ﬁﬂmﬂﬂm%@
arfere Bl &

(© v ghwE w ety S ST
- 2 8

o qadet W ety A S I
F Bt 8

(a)

(b)

@

mﬂ@@mmwgﬁuﬁwﬁﬁwavmﬁﬂ
AR 2

(@) Aeficha g

(b) %ﬁu

© g g

@ ¥ (Schmid) g

Ww‘ which one of »rm

46 . follow;

f imm.?._un._m 514, relatip Ns:,.m aMendmentg
puties, inserted jp, mero the ?E_ma@si
India ? ¢ Ocnmsz_ﬁon of
(a) The Ooum%:ns. (49nd Am

endment) Act
@) The Constitution (44th
Amendment) Act,
© The Constitution (85th
Amendment) At
(@ The Constitution (92nd
92 gmsasgs Act
' Which one of the follow;
146 true ? OWIng statements s
The force of i
“ Moon i ob gravity of the Earth on the
oon 18 greater than the force of gravity
of the Moon on the Earth.

(b) The mo:wo of gravity of the Moon on the
Earth is greater than the force of
gravity of the Earth on the Moon.

(¢) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude and are in the same
direction.

(d) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude but are in opposite
directions.

147. An electric bulb is rated as 220 V and 80 W.
When it is o@mnm.ﬁm@ on 110 <, the power
rating would be : @ W\

(@ 80W oy

0

() 60W

() 40W

d 20w

| SeT-r.ENG

148, In the dispersion of white light by 2 common

149.

150.

(39-A)

glass prism, which one among the foll

owing is

correct ?

(a)

(b)

(c)

(d)

Red light deviates the most because red
light has highest speed in pris/m

Blue light deviates the most because
blue light has highest speed in prism

Red light deviates the most because red
light has lowest speed in Pris®™

Blue light deviates the most because
blue light has lowest speed in prism

Which one among the following is true for the
speed of sound in a given medium ?

(a)

(b

()

(d)

Speed of sound remains same at all

frequencies
Speed of sound is faster at higher
frequencies
Speed of sound is slower at higher
frequencies
Speed of sound is slower at higher
wavelengths

Which one of the following telescopes contains

only mirrors ?

(a)

(b)

(¢

(@)

Galilean telescope

Keplerian telescope

Newtonian telescope

Schmidt telescope
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